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Answer
(a), (d): The average of an A.C. current is zero. We have till now seen resistive circuits as well as reactive (inductive and capacitive) circuits. It is intuitive to believe that a circuit that will have both the components will have a phase angle of modulus less than π/2.
PS. These concepts to be covered mathematically in subsequent lectures.
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7.18 The line that draws power supply to your house from street has

(a) zero average current.

(b) 220 V average voltage.

(¢) voltage and current out of phase by 90°.

(d) voltage and current possibly differing in phase ¢ such that
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